2

SPECIFICATIONS

TOP SURFACE:

3/4" BCX PLYWOOD

STEEL FRAMEWORK TURNTABLE DIAMETER:

216.53", [5500mm]

WHEEL TRACK SYSTEM

TURNTABLE HEIGHT:

32

ROTATIONAL SPEED:

CW/CCW 0.5-2.0 RPM

LOAD CAPACITY:

300 LBS POINT LOAD (4'X4" AREA)
3,500 LBS DISTRIBUTED

MOTOR AND DRIVE:

NORD 1.5 HP
230V/3®/60Hz @ 4.5 FLA

\ ASSEMBLED WEIGHT:

3,250 LBS

30 ROLLER WHEELS CENTER BEARING \

PLYWOOD TOP SURFACE

PLYWOOD MOTOR COVER

PIN-GEAR DRIVE FOR RELIABLE
MAINTENACE-FREE OPERATION

NORD GEAR-MOTOR

MOTOR MOUNT ASSEMBLY

DESIGN BY{ M.CASTRO 11/10/2016
Carousel USA
UNLESS OTHERWISE NOTED TITLE:
DIMENSIONS ARE IN INCHES
TOLERANCES SSWXO IN GROUND TURNTABLE
X= 225 GENERAL ARRANGEMENT-FEATURES
XX =+ .0625
XXX =+ .010
CAROUSEL USA PROPRIETARY AND CONFIDENTIAL SIZE DWG. NO. REV
FRACTIONAL = +1/16" inf i i i i -
: o e e e R GA-55WXO -
TEL: (626) 334-7190 USA. Any reproduction in part or as a
ANGLES = + .5 FAX: (626) 236-4060 whole without the written permission of
www.Carousel-USA.com Carousel USA is prohibited. SCALE: 1:28 | DODFR‘S\)‘TN?SSLE | SHEET 1 OF 7
|

8 7 6 5 4 3

2

1




TURNTABLE HEIGHT MOTOR COVER HEIGHT
- 33 — [255mm]
'|O||

|
|

TURNTABLE DIAMETER

[SSOOmm]
D216
[3334mm]
131"

MOTOR COVER WIDTH
S [597mm]

—_— ] n

MOTOR COVER LENGTH
- [592mm]

ill

UNLESS OTHERWISE NOTED | TITLE:

DESIGN BY;] M.CASTRO 11/10/2016
CarouselUSA
DIMENSIONS ARE IN INCHES

ToLERANCES SSWXO IN GROUND TURNTABLE
X=s 25 GENERAL ARRANGEMENT-DIMENSIONS

XX =+.0625

XXX =+.010

CAROUSEL USA PROPRIETARY AND CONFIDENTIAL SIZE DWG. NO. REV
FRACTIONAL = £1/16" 15206 Ceres Avenue The information contained in this -

Fontana, CA 92335 drawing is the sole property of Carousel B GA 55WXO -
TEL: (626) 334-7190 USA. Any reproduction in part or as a

ANGLES = ¢ .5 FAX: (626) 236-4060 whole without the written permission of
www.Carousel-USA.com Carousel USA s prohibited. SCALE: 1:28 | Do NOT SCALE | SHEET 2 OF 7

|

7 6 5 ! 4 ' 3 ! 2 ]




WHEEL TRACKS & CENTER BEARING
FASTENED TO FLOOR WITH

CONCRETE ANCHORS
D
DETAIL AA
SCALE 1:12
C
PIT GAP
[1 Omm]
gll
8
B
DETAIL AG HEIGHT DEVIATION OF
SCALE1:4 TURNTABLE SURFACE
NO MORE THAN 1/8" [3.18mm)]
AG
DETAIL AK
MOTOR COVER GAP
SCALE1:2
SECTION AB-AB
DESIGN BY:] M.CASTRO 11/10/2016
DRAWN BY;| M.CASTRO 9/20/2023 @Carous elUSA
NOTES: UNLESS OTHERWISE NOTED | TITLE:
DIMENSIONS ARE IN INCHES A
1. LEVEL(,)SMOOTH CONgRETE ENGINEERED FOR PSF POINT LOADS EQUIVELENT OR SURPASSING TOLERANCES 55WXO IN GROUND TURNTABLE
THAT OF TURNTABLE EQUIPMENT -
0 ST CONDUT PER LOCAL CODE e GENERAL ARRANGEMENT-FLOOR REQ.
KX = 2010 CAROUSEL USA PROPRIETARY AND CONFIDENTIAL | SZE |DWG. NO. REV
TATOWSHNG | pmecemhme D | B CA-5SWXO -
TEL: (626) 334-7190 USA. Any reproduction in part or as a
ANGLES = 2.5 ) 2 R com \(,ng(r)flyis\,;llftk}?zfisf%?owh?g%%?ermISSIon of SCALE: 1:34 | DONOT SCALE | SHEET3 OF 7
|

° ’ é 5 f 4 | 3 | 2 1



—OPTIONAL DRAIN

PIT DIAMETER LOCATED OUTSIDE
[5520mm] SHADED AREAS
5 n
D217

[695.34mm]
§|l
27 8
AH +
T [609.60mm]
oo
2X CONDUIT
PER LOCAL CODE
(3/4" TYPICAL) M%TE?)EHP'T
[695.36mm] — [255.27mm+(])2'70
[4889.50mm] —— 0730 L1/
D192 8 I 10
—— | R
[5041.90mm] B s TP DI
. o : o
D198+
[3124.20mm] DETAIL AJ
gll
3%
DESIGN BY{ M.CASTRO 11/10/2016
S Y S o T |22 Carousel USA
I AR “’* eig g 4 w " e 4 f Cea s ; g - ‘L—l . UNLESS OTHERWISE NOTED | TITLE:
T e o e e Y e T et e DIMENSIONS ARE IN INCHES
CECTION AH-AK TOLERANCES SSWXO IN GROUND TURNTABLE
CTION AH-. P PIT DIMENSIONS
KX = 2010 CAROUSEL USA PROPRIETARY AND CONFIDENTIAL | SZE |DWG. NO. REV
RACTONAL= 11716 | 5206 Corgs ey e R GA-55WXO -
TEL: (626) 334-7190 USA. Any reproduction in part or as a
ANGLES = + .5 FAX: (626) 236-4060 whole without the written permission of
www.Carousel-USA.com Carousel USA is prohibited. SCALE: 1:34 | DO N ALE | SHEET 4 OF 7
8 7 6 5 ! 4 ! 3 ! 2 ! 1



8 7 6 5 4 3 2 1

ITEM NO.|PART NUMBER DESCRIPTION QTY.
| 5002 5.5M LOW PROFILE TRACK 1
2 1009 55SSV CENTER BEARING 1
3 6002 5.5M LOW PROFILE PIE ASSEMBLY 10
4 6804 4-HOLE PIE CONNECTOR PLATE 5M SSV 10
5 7010 5.5M LOW PROFILE TOP PANEL ASSEMBLY 1
6 |HA2120 SCREW | M8 | LENGTHA 2m 7

SOCKET HEAD CAP SCREW | M10 | LENGTH-

SOCKET HEAD SCREW M14 X2 MM THREAD, | 34

8 [91290A776 o Hn TN
9 6805 PIE CONNECTION BOLT WASHER - 5.5M-SSV | 90
STEEL NYLON-INSERT LOCKNUT, M14 X 2 MM
10 |20576A120 THREAD, 14 MM HIGH 30
— i FLAT HEAD CAP SCREW | M8 | LENGTH-
: = = 11 |HA2150 6
= S 20 | FULL THD
S MOTOR MOUNT ASSEMBLY FOR 55550
/% < S A\ 13 |[TPA-55550-HATCH |MOTOR COVER SUPPORT ASSEMBLY 1
= : . _ =) s biaoias %8|CF'EJELTL HEAD CAP SCREW | MIO|LENGTH- | 1
= :
> S /. 15 |FHCS M6 L-16TL-16 ﬁ%’ﬂﬁg@ﬁﬁgﬁgﬁﬁ? | M6 | LENGTH- 270
& = = - -
eV SOCKET BUTTON HEAD CAP
S = 16 |HA2102 SCREW | M6 | LENGTH-12mm ]
= .
™ =1 17 91578A108 Steel Stud Anchor for Concrete 4

DETAIL AF
SCALE 1 : 1

DESIGN BY; M.CASTRO 11/10/2016
DRAWN BY] M.CASTRO 9/20/2023 wcarous el USA

UNLESS OTHERWISE NOTED TITLE:
DIMENSIONS ARE IN INCHES
TOLERANCES SSWXO IN GROUND TURNTABLE
X=2125 BOM
XX =+.0625
XXX =+.010
CAROUSEL USA PROPRIETARY AND CONFIDENTIAL SIZE DWG. NO. REV
FRACTIONAL = +1/16" 15206 Ceres Avenue The information contained in this A-55WX
Fontana, CA 92335 drawing is the sole property of Carousel B G 55 O -
TEL: (626) 334-7190 USA. Any reproduction in part or as a
ANGLES = £ .5 FAX: (626) 236-4060 whole without the written permission of SONOTSCALE
www.Carousel-USA.com Carousel USA is prohibited. SCALE ]40 | DRAWING | SHEET 5 OF 7
[

° ’ é S ? 4 | 3 | 2 1



DETAIL AD
SCALE1:8

DETAIL AC
SCALE1:8

o S “ ° DETA”_ AE DESIGN BY; M.CASTRO 11/10/2016

SCALE ] :8 DRAWN BY] M.CASTRO 9/20/2023 wcarouselUSA

A\ R UNLESS OTHERWISE NOTED | TITLE:
\\\\\ »~ . TOLERANCES 55WXO |N GROUND TURNTABLE
X=2125 ASSEMBLY

XX =+ 0625
KXX= 2010 CAROUSEL USA PROPRIETARY AND CONFIDENTIAL | SZE |DWG. NO. REV
FRACTIONAL = £1/16" 15206 Ceres A The informa tained in thi -

WASHER IN BETWEEN TOP VIEW e o o | [ GA-55WXO -

TEL: (626) 334-7190 USA. Any reproduction in part or as a
PIE STRUCTURES ANGLES = ¢ .5 FAX: (626) 236-4060 whole without the written permission of

www.Carousel-USA.com Carousel USA is prohibited. SCALE: 1:32 | DODNRQ&S‘SSLE | SHEET 6 OF 7

[

8 7 6 5 ! 4 ' 3 ! 2 1



[4.8mm]
Ty
16

[5042mm]
B 1981

[3124mm]
@123

[484mm]
P197¢"

DESIGN BY|

M.CASTRO

11/10/2016

DRAWN BY;

M.CASTRO

9/20/2023

#-2Carousel USA

UNLESS OTHERWISE NOTED TITLE:
DIMENSIONS ARE IN INCHES

ToLeRANCES S5WXO IN GROUND TURNTABLE
X=s 25 TRACK DIMENSIONS

XX=1.0625

XXX =+.010
CAROUSEL USA PROPRIETARY AND CONFIDENTIAL SIZE DWG. NO. REV
FRACTIONAL = +1/16" 15206 Ceres Avenue The information contained in this A-55WX
Fontana, CA 92335 drawing is the sole property of Carousel B G 55 O -
TEL: (626) 334-7190 USA. Any reproduction in part or as a
ANGLES = £ .5 FAX: (626) 236-4060 whole without the written permission of SONOTSCALE
www.Carousel-USA.com Carousel USA is prohibited. SCALE 1 24 | DRAWING | SHEET 7 OF 7
[

° ’ é S ? 4 | 3 | 2 1



	GENERAL ARRANGEMENT-FEATURES
	Drawing View22
	Drawing View24
	Drawing View39
	Drawing View60

	GENERAL ARRANGEMENT-DIMENSIONS
	Drawing View6
	Drawing View7

	GENERAL ARRANGEMENT-FLOOR REQ.
	Drawing View47
	Detail View AA (1 : 12)
	Drawing View50
	Section View AB-AB
	Detail View AG (1 : 4)
	Detail View AK (1 : 2)

	PIT DIMENSIONS
	Drawing View62
	Drawing View63
	Section View AH-AH
	Detail View AJ (2 : 45)

	BOM
	Drawing View25
	Detail View AF (1 : 1)

	ASSEMBLY
	Drawing View32
	Drawing View52
	Drawing View53
	Detail View AC (1 : 8)
	Detail View AD (1 : 8)
	Detail View AE (1 : 8)

	TRACK DIMENSIONS
	Drawing View57
	Drawing View58


